
Width across flats 24

11
.5

ø28

3 x M3 x 0.5

ø18

A

7

Width across flats 19

Width across flats 19

1/8 (Rc, NPT, NPTF)

11
.5

25

ø28

4
4

41
.5 M14 x 1

ø3

ø18

3 x M3 x 0.5

(5
) 7

Width across flats 37

ø45

11
.5

4 x M4 x 0.7
ø34

A

7.
5

Width across flats 22

Width across flats 24

1/8 (Rc, NPT, NPTF)

ø45

41
.5

11
.5

25

6
6

ø8

ø34
4 x M4 x 0.7

M16 x 1.5

(5
)

7.
5

Width across flats 60

ø70

13

4 x M5 x 0.8

ø40

A

8.
5

Width across flats 24

Width across flats 22 1/8 (Rc, NPT, NPTF)

ø70

43

13

25

M16 x 1.5

ø8

ø40
4 x M5 x 0.8

(5
)

6
6

8.
5

Dimensions

Dimensions

Dimensions

∗  With three M3 bolts

∗  With four M4 bolts

∗  With four M5 bolts

Part no. A
ZPA-T1-B8 M8 x 1.25

ZPA-T1-B10 M10 x 1.5

Part no. A
ZPA-T2-B8 M8 x 1.25

ZPA-T2-B10 M10 x 1.5

ZPA-T2-B12 M12 x 1.75

ZPA-T2-B16 M16 x 1.5

Part no. A
ZPA-T3-B12 M12 x 1.75

ZPA-T3-B16 M16 x 1.5

Adapter assembly part no. Applicable pad part no.

ZPA-T1-B8 ZP2-40H(CL/NT/FT)
ZP2-50H(CL/NT/FT)
ZP2-3050HWZPA-T1-B10

Adapter assembly part no. Applicable pad part no.

ZPA-T1-B01 ZP2-40H(CL/NT/FT)
ZP2-50H(CL/NT/FT)
ZP2-3050HW

ZPA-T1-N01
ZPA-T1-T01

∗  With three M3 bolts

Adapter assembly part no. Applicable pad part no.

ZPA-T2-B8

ZP2-63H(CL/NT/FT)
ZP2-80H(CL/NT/FT)

ZPA-T2-B10
ZPA-T2-B12
ZPA-T2-B16

Adapter assembly part no. Applicable pad part no.

ZPA-T2-B01
ZP2-63H(CL/NT/FT)
ZP2-80H(CL/NT/FT)ZPA-T2-N01

ZPA-T2-T01

∗  With four M4 bolts

Adapter assembly part no. Applicable pad part no.

ZPA-T3-B12
ZP2-100H(CL/NT/FT)
ZP2-125H(CL/NT/FT)

ZPA-T3-B16

Adapter assembly part no. Applicable pad part no.

ZPA-T3-B01
ZP2-100H(CL/NT/FT)
ZP2-125H(CL/NT/FT)ZPA-T3-N01

ZPA-T3-T01

∗  With four M5 bolts

Adapter Assembly

Mark-free Pad/High Rigidity ZP2 Series

Mounting Bracket Assembly

255A



1/8 (Rc, NPT, NPTF)

Width across flats 21

48
.5

26
.5

11
.5

3 x M3 x 0.5

ø3

ø18

ø28

A

11
7

Width across flats 21

1/8 (Rc, NPT, NPTF)

ø40

4 x M5 x 0.8

ø70

11

A

13

28

50

ø4

8.
5

Width across flats 21

1/8 (Rc, NPT, NPTF)

11
.5

26
.548

.5

11

ø45

ø34

4 x M4 x 0.7

A

ø4

7.
5

Dimensions

Dimensions

Dimensions

∗  With three M3 bolts

∗  With four M4 bolts

∗  With four M5 bolts

Part no. A
ZPA-X1-m01-B8 M8 x 1.25

ZPA-X1-m01-B10 M10 x 1.5

Part no. A
ZPA-X3-m01-B10 M10 x 1.5

ZPA-X3-m01-B12 M12 x 1.75

Part no. A
ZPA-X2-m01-B10 M10 x 1.5

ZPA-X2-m01-B12 M12 x 1.75

Adapter assembly part no. Applicable pad part no.

ZPA-X1-B01-B8

ZP2-40H(CL/NT/FT)
ZP2-50H(CL/NT/FT)
ZP2-3050HW

ZPA-X1-N01-B8
ZPA-X1-T01-B8
ZPA-X1-B01-B10
ZPA-X1-N01-B10
ZPA-X1-T01-B10

Adapter assembly part no. Applicable pad part no.

ZPA-X3-B01-B10

ZP2-100H(CL/NT/FT)
ZP2-125H(CL/NT/FT)

ZPA-X3-N01-B10
ZPA-X3-T01-B10
ZPA-X3-B01-B12
ZPA-X3-N01-B12
ZPA-X3-T01-B12

Adapter assembly part no. Applicable pad part no.

ZPA-X2-B01-B10

ZP2-63H(CL/NT/FT)
ZP2-80H(CL/NT/FT)

ZPA-X2-N01-B10
ZPA-X2-T01-B10
ZPA-X2-B01-B12
ZPA-X2-N01-B12
ZPA-X2-T01-B12

Adapter Assembly

256

Mark-free Pad/High Rigidity
Mounting Bracket Assembly  ZP2 Series

M
o

d
el

S
el

ec
ti

o
n

F
o

r 
S

p
ec

ia
l

A
p

p
lic

at
io

n
s

M
u

lt
is

ta
g

e
F

la
t

N
o

zz
le

S
p

o
n

g
e

F
o

r 
F

ilm
A

d
so

rp
ti

o
n

B
al

l S
p

lin
e

B
u

ff
er

Co
ns

tru
ct

io
n

Pr
ec

au
tio

ns
M

ar
k-

fr
ee

M
o

u
n

ti
n

g
B

ra
ck

et
A

ss
em

b
ly

F
o

r 
D

is
k

A
d

so
rp

ti
o

n
F

o
r 

P
an

el
H

o
ld

in
g



Width across flats 14

1/8 (Rc, NPT, NPTF)

Width across flats 27

ø28

ø18

ø3
3 x M3 x 0.5

M18 x 1.5
20

.5
A

11
.5

( B
)

35

11
11

7

Width across flats 14

1/8 (Rc, NPT, NPTF)
Width across flats 27

11
.5

ø45

ø34

4 x M4 x 0.7

7.
5

ø3

M18 x 1.5

20
.5

A

(B
)

35

11
11

Width across flats 17

1/8 (Rc, NPT, NPTF)Width across flats 30

M22 x 1.5

24
A

13

(B
)

ø40

ø70

4 x M5 x 0.8

8.
5

ø4

50 8
8

Dimensions

∗  With three M3 bolts

Dimensions

∗  With four M4 bolts

Dimensions

∗  With four M5 bolts

Part no. A B
ZPB-T1J25-m01   40 107

ZPB-T1J50-m01   75 142

ZPB-T1J75-m01 111 178

Part no. A B
ZPB-T2J25-m01   40 107

ZPB-T2J50-m01   75 142

ZPB-T2J75-m01 111 178

Part no. A B
ZPB-T3J25-m01   44 131

ZPB-T3J50-m01   80 167

ZPB-T3J75-m01 120 207

ZPB-T3J100-m01 155 242

Buffer assembly part no. Applicable pad part no.
Buffer body

(Material: Aluminum alloy)
ZP2-40H(CL/NT/FT)
ZP2-50H(CL/NT/FT)
ZP2-3050HWZPB-T1J25-B01

ZPB-T1J25-N01
ZPB-T1J25-T01
ZPB-T1J50-B01
ZPB-T1J50-N01
ZPB-T1J50-T01
ZPB-T1J75-B01
ZPB-T1J75-N01
ZPB-T1J75-T01

Buffer assembly part no. Applicable pad part no.
Buffer body

(Material: Aluminum alloy)
ZP2-63H(CL/NT/FT)
ZP2-80H(CL/NT/FT)

ZPB-T2J25-B01
ZPB-T2J25-N01
ZPB-T2J25-T01
ZPB-T2J50-B01
ZPB-T2J50-N01
ZPB-T2J50-T01
ZPB-T2J75-B01
ZPB-T2J75-N01
ZPB-T2J75-T01

Buffer assembly part no. Applicable pad part no.
Buffer body

(Material: Aluminum alloy)
ZP2-100H(CL/NT/FT)
ZP2-125H(CL/NT/FT)

ZPB-T3J25-B01
ZPB-T3J25-N01
ZPB-T3J25-T01
ZPB-T3J50-B01
ZPB-T3J50-N01
ZPB-T3J50-T01
ZPB-T3J75-B01
ZPB-T3J75-N01
ZPB-T3J75-T01
ZPB-T3J100-B01
ZPB-T3J100-N01
ZPB-T3J100-T01

Buffer Assembly ∗  Refer to page 343 for nut tightening torque.

Buffer Specifications
Buffer specifications Rotating

Stroke [mm] 25, 50, 75

Spring reactive
force [N]

At 0 stroke 6.9
At full stroke 11.8

Buffer Specifications
Buffer specifications Rotating

Stroke [mm] 25, 50, 75

Spring reactive
force [N]

At 0 stroke 6.9
At full stroke 11.8

Buffer Specifications
Buffer specifications Rotating

Stroke [mm] 25, 50, 75, 100

Spring reactive
force [N]

At 0 stroke 10
At full stroke 15

257

Mark-free Pad/High Rigidity
Mounting Bracket Assembly  ZP2 Series

B



Width across flats 14

1/8 (Rc, NPT, NPTF)
Width across flats 27

Bushing

ø28

ø18

ø3
3 x M3 x 0.5

7

M18 x 1.5

20
.5

A
11

.5

( B
)

35

11
11

Width across flats 14

1/8 (Rc, NPT, NPTF)
Width across flats 27

11
.5

ø45

ø34

4 x M4 x 0.7

7.
5

ø3

M18 x 1.5

20
.5

A

(B
)

35

11
11

Bushing

Bushing

Width across flats 17

1/8 (Rc, NPT, NPTF)Width across flats 30

M22 x 1.5

24
A

13

(B
)

ø40

ø70

4 x M5 x 0.8

8.
5

ø4

50 8
8

Dimensions

Dimensions

∗  With four M4 bolts

∗  With four M5 bolts

Dimensions

∗  With three M3 bolts

Part no. A B
ZPB-T1(JB/JF)25-m01   40 107

ZPB-T1(JB/JF)50-m01   75 142

ZPB-T1(JB/JF)75-m01 111 178

Part no. A B
ZPB-T2(JB/JF)25-m01   40 107

ZPB-T2(JB/JF)50-m01   75 142

ZPB-T2(JB/JF)75-m01 111 178

Part no. A B
ZPB-T3(JB/JF)25-m01   44 131

ZPB-T3(JB/JF)50-m01   80 167

ZPB-T3(JB/JF)75-m01 120 207

ZPB-T3(JB/JF)100-m01 155 242

Buffer assembly part no. Applicable pad part no.
Buffer body

(Material: Brass)
Buffer body

(Material: Structural steel)
ZP2-40H(CL/NT/FT)
ZP2-50H(CL/NT/FT)
ZP2-3050HWZPB-T1JB25-B01 ZPB-T1JF25-B01

ZPB-T1JB25-N01 ZPB-T1JF25-N01
ZPB-T1JB25-T01 ZPB-T1JF25-T01
ZPB-T1JB50-B01 ZPB-T1JF50-B01
ZPB-T1JB50-N01 ZPB-T1JF50-N01
ZPB-T1JB50-T01 ZPB-T1JF50-T01
ZPB-T1JB75-B01 ZPB-T1JF75-B01
ZPB-T1JB75-N01 ZPB-T1JF75-N01
ZPB-T1JB75-T01 ZPB-T1JF75-T01

Buffer assembly part no. Applicable pad part no.
Buffer body

 (Material: Brass)
Buffer body

(Material: Structural steel)
ZP2-63H(CL/NT/FT)
ZP2-80H(CL/NT/FT)

ZPB-T2JB25-B01 ZPB-T2JF25-B01
ZPB-T2JB25-N01 ZPB-T2JF25-N01
ZPB-T2JB25-T01 ZPB-T2JF25-T01
ZPB-T2JB50-B01 ZPB-T2JF50-B01
ZPB-T2JB50-N01 ZPB-T2JF50-N01
ZPB-T2JB50-T01 ZPB-T2JF50-T01
ZPB-T2JB75-B01 ZPB-T2JF75-B01
ZPB-T2JB75-N01 ZPB-T2JF75-N01
ZPB-T2JB75-T01 ZPB-T2JF75-T01

Buffer assembly part no. Applicable pad part no.
Buffer body

(Material: Brass)
Buffer body

(Material: Structural steel)
ZP2-100H(CL/NT/FT)
ZP2-125H(CL/NT/FT)

ZPB-T3JB25-B01 ZPB-T3JF25-B01
ZPB-T3JB25-N01 ZPB-T3JF25-N01
ZPB-T3JB25-T01 ZPB-T3JF25-T01
ZPB-T3JB50-B01 ZPB-T3JF50-B01
ZPB-T3JB50-N01 ZPB-T3JF50-N01
ZPB-T3JB50-T01 ZPB-T3JF50-T01
ZPB-T3JB75-B01 ZPB-T3JF75-B01
ZPB-T3JB75-N01 ZPB-T3JF75-N01
ZPB-T3JB75-T01 ZPB-T3JF75-T01
ZPB-T3JB100-B01 ZPB-T3JF100-B01
ZPB-T3JB100-N01 ZPB-T3JF100-N01
ZPB-T3JB100-T01 ZPB-T3JF100-T01

Buffer Assembly ∗  Refer to page 343 for nut tightening torque.

Buffer Specifications
Buffer specifications Rotating

Stroke [mm] 25, 50, 75

Spring reactive
force [N]

At 0 stroke 6.9
At full stroke 11.8

Buffer Specifications
Buffer specifications Rotating

Stroke [mm] 25, 50, 75

Spring reactive
force [N]

At 0 stroke 6.9
At full stroke 11.8

Buffer Specifications
Buffer specifications Rotating

Stroke [mm] 25, 50, 75, 100

Spring reactive
force [N]

At 0 stroke 10
At full stroke 15

258

Mark-free Pad/High Rigidity
Mounting Bracket Assembly  ZP2 Series

M
o

d
el

S
el

ec
ti

o
n

F
o

r 
S

p
ec

ia
l

A
p

p
lic

at
io

n
s

M
u

lt
is

ta
g

e
F

la
t

N
o

zz
le

S
p

o
n

g
e

F
o

r 
F

ilm
A

d
so

rp
ti

o
n

B
al

l S
p

lin
e

B
u

ff
er

Co
ns

tru
ct

io
n

Pr
ec

au
tio

ns
M

ar
k-

fr
ee

M
o

u
n

ti
n

g
B

ra
ck

et
A

ss
em

b
ly

F
o

r 
D

is
k

A
d

so
rp

ti
o

n
F

o
r 

P
an

el
H

o
ld

in
g

B



Dimensions

Dimensions

Dimensions

∗  With four M4 bolts

∗  With three M3 bolts

∗  With four M5 bolts

Part no. A B
ZPB-X1J25-m01   40 139.5

ZPB-X1J50-m01   75 174.5

ZPB-X1J75-m01 111 210.5

Part no. A B
ZPB-X2J25-m01   40 139.5

ZPB-X2J50-m01   75 174.5

ZPB-X2J75-m01 111 210.5

Part no. A B
ZPB-X3J25-m01   44 165

ZPB-X3J50-m01   80 201

ZPB-X3J75-m01 120 241

ZPB-X3J100-m01 155 276

Buffer assembly part no. Applicable pad part no.
Buffer body

(Material: Aluminum alloy)
ZP2-40H(CL/NT/FT)
ZP2-50H(CL/NT/FT)
ZP2-3050HWZPB-X1J25-B01

ZPB-X1J25-N01
ZPB-X1J25-T01
ZPB-X1J50-B01
ZPB-X1J50-N01
ZPB-X1J50-T01
ZPB-X1J75-B01
ZPB-X1J75-N01
ZPB-X1J75-T01

Buffer assembly part no. Applicable pad part no.
Buffer body

(Material: Aluminum alloy)
ZP2-63H(CL/NT/FT)
ZP2-80H(CL/NT/FT)

ZPB-X2J25-B01
ZPB-X2J25-N01
ZPB-X2J25-T01
ZPB-X2J50-B01
ZPB-X2J50-N01
ZPB-X2J50-T01
ZPB-X2J75-B01
ZPB-X2J75-N01
ZPB-X2J75-T01

Buffer assembly part no. Applicable pad part no.
Buffer body

(Material: Aluminum alloy)
ZP2-100H(CL/NT/FT)
ZP2-125H(CL/NT/FT)

ZPB-X3J25-B01
ZPB-X3J25-N01
ZPB-X3J25-T01
ZPB-X3J50-B01
ZPB-X3J50-N01
ZPB-X3J50-T01
ZPB-X3J75-B01
ZPB-X3J75-N01
ZPB-X3J75-T01
ZPB-X3J100-B01
ZPB-X3J100-N01
ZPB-X3J100-T01

Buffer Assembly

Width across flats 27

Width across flats 14

16

11
1135

A
48

.5

( B
)

26
.5

11
.5

Width across flats 21

M18 x 1.5

7

3 x M3 x 0.5
ø3

ø18

ø28

Width across flats 14

Width across flats 27

16

11
1135

A(B
)

48
.5

26
.5

11
.5

Width across flats 21

M18 x 1.5

ø4

ø34

ø45

4 x M4 x 0.7

7.
5

Width across flats 17

Width across flats 3021

8
8

50
A

50

(B
) M22 x 1.5

Width across flats 21

28

13

8.
5

4 x M5 x 0.8ø4

ø40

ø70

1/8 (Rc, NPT, NPTF)

1/8 (Rc, NPT, NPTF)

1/8 (Rc, NPT, NPTF)

∗  Refer to page 343 for nut tightening torque.

Buffer Specifications
Buffer specifications Rotating

Stroke [mm] 25, 50, 75

Spring reactive
force [N]

At 0 stroke 6.9
At full stroke 11.8

Buffer Specifications
Buffer specifications Rotating

Stroke [mm] 25, 50, 75

Spring reactive
force [N]

At 0 stroke 6.9
At full stroke 11.8

Buffer Specifications
Buffer specifications Rotating

Stroke [mm] 25, 50, 75, 100

Spring reactive
force [N]

At 0 stroke 10
At full stroke 15

259

Mark-free Pad/High Rigidity
Mounting Bracket Assembly  ZP2 Series

B



1/8 (Rc, NPT, NPTF)

Width across flats 14

Width across flats 21

Width across flats 27

Bushing

ø28

ø18

ø3
3 x M3 x 0.5

7

11
.5

16

(B
)

26
.548

.5

M18 x 1.5

A
35

11
11

Bushing

ø45

ø34

4 x M4 x 0.7

7.
5

ø4

1/8 (Rc, NPT, NPTF)

Width across flats 14

Width across flats 21

Width across flats 27

11
.5

16

(B
)

26
.548

.5

M18 x 1.5

A
35

11
11

Width across flats 21

Width across flats 17

Width across flats 30

Bushing

ø40

ø4

8.
5

4 x M5 x 0.8

ø70

21

13

(B
)

28

50

M22 x 1.5

A
50

1/8 (Rc, NPT, NPTF)

8
8

Dimensions

Dimensions

∗  With three M3 bolts

Dimensions

∗  With four M4 bolts

∗  With four M5 bolts

Part no. A B
ZPB-X1(JB/JF)25-m01   40 139.5

ZPB-X1(JB/JF)50-m01   75 174.5

ZPB-X1(JB/JF)75-m01 111 210.5

Part no. A B
ZPB-X2(JB/JF)25-m01   40 139.5

ZPB-X2(JB/JF)50-m01   75 174.5

ZPB-X2(JB/JF)75-m01 111 210.5

Part no. A B
ZPB-X3(JB/JF)25-m01   44 165

ZPB-X3(JB/JF)50-m01   80 201

ZPB-X3(JB/JF)75-m01 120 241

ZPB-X3(JB/JF)100-m01 155 276

Buffer assembly part no. Applicable pad part no.
Buffer body

(Material: Brass)
Buffer body

(Material: Structural steel)
ZP2-40H(CL/NT/FT)
ZP2-50H(CL/NT/FT)
ZP2-3050HWZPB-X1JB25-B01 ZPB-X1JF25-B01

ZPB-X1JB25-N01 ZPB-X1JF25-N01
ZPB-X1JB25-T01 ZPB-X1JF25-T01
ZPB-X1JB50-B01 ZPB-X1JF50-B01
ZPB-X1JB50-N01 ZPB-X1JF50-N01
ZPB-X1JB50-T01 ZPB-X1JF50-T01
ZPB-X1JB75-B01 ZPB-X1JF75-B01
ZPB-X1JB75-N01 ZPB-X1JF75-N01
ZPB-X1JB75-T01 ZPB-X1JF75-T01

Buffer assembly part no. Applicable pad part no.
Buffer body

(Material: Brass)
Buffer body

(Material: Structural steel)
ZP2-63H(CL/NT/FT)
ZP2-80H(CL/NT/FT)

ZPB-X2JB25-B01 ZPB-X2JF25-B01
ZPB-X2JB25-N01 ZPB-X2JF25-N01
ZPB-X2JB25-T01 ZPB-X2JF25-T01
ZPB-X2JB50-B01 ZPB-X2JF50-B01
ZPB-X2JB50-N01 ZPB-X2JF50-N01
ZPB-X2JB50-T01 ZPB-X2JF50-T01
ZPB-X2JB75-B01 ZPB-X2JF75-B01
ZPB-X2JB75-N01 ZPB-X2JF75-N01
ZPB-X2JB75-T01 ZPB-X2JF75-T01

Buffer assembly part no. Applicable pad part no.
Buffer body

(Material: Brass)
Buffer body

(Material: Structural steel)
ZP2-100H(CL/NT/FT)
ZP2-125H(CL/NT/FT)

ZPB-X3JB25-B01 ZPB-X3JF25-B01
ZPB-X3JB25-N01 ZPB-X3JF25-N01
ZPB-X3JB25-T01 ZPB-X3JF25-T01
ZPB-X3JB50-B01 ZPB-X3JF50-B01
ZPB-X3JB50-N01 ZPB-X3JF50-N01
ZPB-X3JB50-T01 ZPB-X3JF50-T01
ZPB-X3JB75-B01 ZPB-X3JF75-B01
ZPB-X3JB75-N01 ZPB-X3JF75-N01
ZPB-X3JB75-T01 ZPB-X3JF75-T01
ZPB-X3JB100-B01 ZPB-X3JF100-B01
ZPB-X3JB100-N01 ZPB-X3JF100-N01
ZPB-X3JB100-T01 ZPB-X3JF100-T01

Buffer Assembly ∗  Refer to page 343 for nut tightening torque.

Buffer Specifications
Buffer specifications Rotating

Stroke [mm] 25, 50, 75

Spring reactive
force [N]

At 0 stroke 6.9
At full stroke 11.8

Buffer Specifications
Buffer specifications Rotating

Stroke [mm] 25, 50, 75

Spring reactive
force [N]

At 0 stroke 6.9
At full stroke 11.8

Buffer Specifications
Buffer specifications Rotating

Stroke [mm] 25, 50, 75, 100

Spring reactive
force [N]

At 0 stroke 10
At full stroke 15

260

Mark-free Pad/High Rigidity
Mounting Bracket Assembly  ZP2 Series

M
o

d
el

S
el

ec
ti

o
n

F
o

r 
S

p
ec

ia
l

A
p

p
lic

at
io

n
s

M
u

lt
is

ta
g

e
F

la
t

N
o

zz
le

S
p

o
n

g
e

F
o

r 
F

ilm
A

d
so

rp
ti

o
n

B
al

l S
p

lin
e

B
u

ff
er

Co
ns

tru
ct

io
n

Pr
ec

au
tio

ns
M

ar
k-

fr
ee

M
o

u
n

ti
n

g
B

ra
ck

et
A

ss
em

b
ly

F
o

r 
D

is
k

A
d

so
rp

ti
o

n
F

o
r 

P
an

el
H

o
ld

in
g

B



Width across flats 19

Width across flats 19
Rc1/8

3 x M3 x 0.5

4
421

14
.5

21
.5

M14 x 1

ø30
ø18

ø2

7

47
.5

7.
3

30°

Width across flats 19

Width across flats 19

M5 x 0.8

3 x M3 x 0.559
.5

14
.5

21
.5

21

M14 x 1

ø30

ø18

ø2

30°

32

7.
3

4
4

7

Rc1/8Width across flats 22

Width across flats 22

4 x M4 x 0.7

25

59
.5

1928
.5

M16 x 1.5

ø50

ø34

ø4

8

9.
1

6
6

30°

Width across flats 22
Width across flats 22

Rc1/8

4 x M4 x 0.7

45

80
.5

28
.5

19

M16 x 1.5

25

ø50

ø34

ø4

30°9.
1

6
6

8

Width across flats 22

Width across flats 22 Rc1/8

4 x M5 x 0.8

60
.5

2029
.5

25

M16 x 1.5

ø70

ø40

ø4

30°

10
.1

8.
5

6
6

Width across flats 22

Rc1/8

Width across flats 22

4 x M5 x 0.8

81
.5

20

M16 x 1.5

6
625

29
.546

ø70
ø40

ø4

30°

8.
5

10
.1

Adapter assembly part no. Applicable pad part no.

ZP2A-TF1
ZP2-40H(CL/NT/FT)
ZP2-50H(CL/NT/FT)
ZP2-3050HW

∗  With three M3 bolts

Adapter assembly part no. Applicable pad part no.

ZP2A-XF1
ZP2-40H(CL/NT/FT)
ZP2-50H(CL/NT/FT)
ZP2-3050HW

∗  With three M3 bolts

Adapter assembly part no. Applicable pad part no.

ZP2A-TF2 ZP2-63H(CL/NT/FT)
ZP2-80H(CL/NT/FT)

∗  With four M4 bolts

Adapter assembly part no. Applicable pad part no.

ZP2A-XF2 ZP2-63H(CL/NT/FT)
ZP2-80H(CL/NT/FT)

∗  With four M4 bolts

Adapter assembly part no. Applicable pad part no.

ZP2A-TF3 ZP2-100H(CL/NT/FT)
ZP2-125H(CL/NT/FT)

∗  With four M5 bolts

Adapter assembly part no. Applicable pad part no.

ZP2A-XF3 ZP2-100H(CL/NT/FT)
ZP2-125H(CL/NT/FT)

∗  With four M5 bolts

Adapter Assembly

Ball Joint Type

Mark-free Pad/High Rigidity ZP2 Series

Mounting Bracket Assembly

261A



Width across flats 27

Width across flats 14

Width across flats 13

Rc1/8

3 x M3 x 0.5

M18 x 1.5

A
20

.5

14
.5

21
.5

42
.5

30°

ø30

ø18

ø2

7

35

(B
)

7.
3

11
11 Bushing

Width across flats 30

Width across flats 17

Width across flats 17

4 x M4 x 0.7

Rc1/8

24
A

M22 x 1.5

1928
.554

.5

30°

ø4
ø34
ø50

8

50

( B
)

9.
1

8
8 Bushing

Width across flats 30

Width across flats 17

4 x M5 x 0.8

Rc1/8

24
A

M22 x 1.5

2029
.555

.5

ø40
ø4

30°

8.
5

ø70

50

( B
)

10
.1

8
8 Bushing

Width across flats 17

Dimensions

Dimensions

Dimensions

∗  With three M3 bolts

∗  With four M4 bolts

∗  With four M5 bolts

Part no. A B
ZP2B-TF1(JB/JF)25   40 138

ZP2B-TF1(JB/JF)50   75 173

ZP2B-TF1(JB/JF)75 111 209

Part no. A B
ZP2B-TF2(JB/JF)25   44 172.5

ZP2B-TF2(JB/JF)50   80 208.5

ZP2B-TF2(JB/JF)75 120 248.5

ZP2B-TF2(JB/JF)100 155 283.5

Part no. A B
ZP2B-TF3(JB/JF)25   44 173.5

ZP2B-TF3(JB/JF)50   80 209.5

ZP2B-TF3(JB/JF)75 120 249.5

ZP2B-TF3(JB/JF)100 155 284.5

Buffer assembly part no. Applicable pad part no.
Buffer body

(Material: Brass)
Buffer body

(Material: Structural steel)
ZP2-40H(CL/NT/FT)
ZP2-50H(CL/NT/FT)
ZP2-3050HWZP2B-TF1JB25 ZP2B-TF1JF25

ZP2B-TF1JB50 ZP2B-TF1JF50
ZP2B-TF1JB75 ZP2B-TF1JF75

Buffer assembly part no. Applicable pad part no.
Buffer body

(Material: Brass)
Buffer body

(Material: Structural steel)
ZP2-63H(CL/NT/FT)
ZP2-80H(CL/NT/FT)

ZP2B-TF2JB25 ZP2B-TF2JF25
ZP2B-TF2JB50 ZP2B-TF2JF50
ZP2B-TF2JB75 ZP2B-TF2JF75
ZP2B-TF2JB100 ZP2B-TF2JF100

Buffer assembly part no. Applicable pad part no.
Buffer body

(Material: Brass)
Buffer body

(Material: Structural steel)
ZP2-100H(CL/NT/FT)
ZP2-125H(CL/NT/FT)

ZP2B-TF3JB25 ZP2B-TF3JF25
ZP2B-TF3JB50 ZP2B-TF3JF50
ZP2B-TF3JB75 ZP2B-TF3JF75
ZP2B-TF3JB100 ZP2B-TF3JF100

Buffer Assembly ∗  Refer to page 343 for nut tightening torque.

Buffer Specifications
Buffer specifications Rotating

Stroke [mm] 25, 50, 75

Spring reactive
force [N]

At 0 stroke 6.9
At full stroke 11.8

Buffer Specifications
Buffer specifications Rotating

Stroke [mm] 25, 50, 75, 100

Spring reactive
force [N]

At 0 stroke 10
At full stroke 15

Buffer Specifications
Buffer specifications Rotating

Stroke [mm] 25, 50, 75, 100

Spring reactive
force [N]

At 0 stroke 10
At full stroke 15

262

Mark-free Pad/High Rigidity
Mounting Bracket Assembly  ZP2 Series

Ball Joint Type

M
o

d
el

S
el

ec
ti

o
n

F
o

r 
S

p
ec

ia
l

A
p

p
lic

at
io

n
s

M
u

lt
is

ta
g

e
F

la
t

N
o

zz
le

S
p

o
n

g
e

F
o

r 
F

ilm
A

d
so

rp
ti

o
n

B
al

l S
p

lin
e

B
u

ff
er

Co
ns

tru
ct

io
n

Pr
ec

au
tio

ns
M

ar
k-

fr
ee

M
o

u
n

ti
n

g
B

ra
ck

et
A

ss
em

b
ly

F
o

r 
D

is
k

A
d

so
rp

ti
o

n
F

o
r 

P
an

el
H

o
ld

in
g

B



Width across flats 27

Width across flats 14

Width across flats 13

M5 x 0.8

3 x M3 x 0.5

32
11

11

M18 x 1.5

16

14
.5

21
.5

50
.5

7

A
35

( B
)

7.
3

ø30

ø18

30°

ø2

Bushing

Width across flats 22

Width across flats 30

Rc1/8
4 x M4 x 0.7

45

67
.5

A

M22 x 1.5

1928
.5

21

ø50
ø34

ø4

30°

8

50

(B
)

9.
1

8
8 Bushing

Width across flats 17

Width across flats 17

Width across flats 30

Width across flats 22

Rc1/8

4 x M5 x 0.8

2029
.5

ø70

30°

21

46

68
.5

A

M22 x 1.5

8
8

ø4
ø40

50

( B
)

8.
5

10
.1

Bushing

Dimensions

Dimensions

Dimensions

∗  With three M3 bolts

∗  With four M4 bolts

∗  With four M5 bolts

Part no. A B
ZP2B-XF1(JB/JF)25   40 141.5

ZP2B-XF1(JB/JF)50   75 176.5

ZP2B-XF1(JB/JF)75 111 212.5

Part no. A B
ZP2B-XF2(JB/JF)25   44 182.5

ZP2B-XF2(JB/JF)50   80 218.5

ZP2B-XF2(JB/JF)75 120 258.5

ZP2B-XF2(JB/JF)100 155 293.5

Part no. A B
ZP2B-XF3(JB/JF)25   44 183.5

ZP2B-XF3(JB/JF)50   80 219.5

ZP2B-XF3(JB/JF)75 120 259.5

ZP2B-XF3(JB/JF)100 155 294.5

Buffer assembly part no. Applicable pad part no.
Buffer body

(Material: Brass)
Buffer body

(Material: Structural steel)
ZP2-40H(CL/NT/FT)
ZP2-50H(CL/NT/FT)
ZP2-3050HWZP2B-XF1JB25 ZP2B-XF1JF25

ZP2B-XF1JB50 ZP2B-XF1JF50
ZP2B-XF1JB75 ZP2B-XF1JF75

Buffer assembly part no. Applicable pad part no.
Buffer body

(Material: Brass)
Buffer body

(Material: Structural steel)
ZP2-63H(CL/NT/FT)
ZP2-80H(CL/NT/FT)

ZP2B-XF2JB25 ZP2B-XF2JF25
ZP2B-XF2JB50 ZP2B-XF2JF50
ZP2B-XF2JB75 ZP2B-XF2JF75
ZP2B-XF2JB100 ZP2B-XF2JF100

Buffer assembly part no. Applicable pad part no.
Buffer body

(Material: Brass)
Buffer body

(Material: Structural steel)
ZP2-100H(CL/NT/FT)
ZP2-125H(CL/NT/FT)

ZP2B-XF3JB25 ZP2B-XF3JF25
ZP2B-XF3JB50 ZP2B-XF3JF50
ZP2B-XF3JB75 ZP2B-XF3JF75
ZP2B-XF3JB100 ZP2B-XF3JF100

Buffer Assembly ∗  Refer to page 343 for nut tightening torque.

Buffer Specifications
Buffer specifications Rotating

Stroke [mm] 25, 50, 75

Spring reactive
force [N]

At 0 stroke 6.9
At full stroke 11.8

Buffer Specifications
Buffer specifications Rotating

Stroke [mm] 25, 50, 75, 100

Spring reactive
force [N]

At 0 stroke 10
At full stroke 15

Buffer Specifications
Buffer specifications Rotating

Stroke [mm] 25, 50, 75, 100

Spring reactive
force [N]

At 0 stroke 10
At full stroke 15

263

Ball Joint TypeMark-free Pad/High Rigidity
Mounting Bracket Assembly  ZP2 Series

B


	Mounting Bracket Assembly



